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TOMTRNTOHE | AIEERELTLV=HERNS | AIEFRELTVVEREARAR | BIEERELTLV-SEERAS
=SEZEHR 40 cmH,0=mbar 40 cmH,0=mbar 40 cmH,0=mbar
EEZ#H 8 cmH,0=mbar 8 cmH,0=mbar 8 cmH,0=mbar
|deal Weight: Ideal Weight: Ideal Weight:
<5Kg=0.64 X IW, <5Kg=0.64 x IW, <5Kg=0.64 x IW,
E7FRI[EZEMR | 5-20 Kg=0.48 x IW 5-20 Kg =0.48 x |W 5-20 Kg =0.48 x |W

21-40 Kg = 0.32 x W,
>40Kg = 0.24 x IW

21-40 Kg = 0.32 x W,
>40Kg = 0.24 x IW

21-40 Kg = 0.32 x W,
>40Kg=0.24 x IW
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|ldeal Weight:
<5Kg=0.16 x IW,
5-20 Kg =0.12 x IW
21-40 Kg = 0.08 x W,
>40 Kg=0.06 x IW

Ideal Weight:
<5Kg=0.16 x IW,
5-20 Kg=0.12 x IW
21-40 Kg = 0.08 x IW,
>40 Kg =0.06 x IW

Ideal Weight:
<5Kg=0.16 x IW,
5-20 Kg=0.12 x IW
21-40 Kg = 0.08 x IW,
>40 Kg =0.06 x IW

|ldeal Weight: Ideal Weight: Ideal Weight:
<5 Kg = 80, <5 Kg = 80, <5 Kg = 80,
AN IR ZE 3R 5-20 Kg = 60, 5-20 Kg = 60, 5-20 Kg = 60,
21-40 Kg = 40, 21-40 Kg = 40, 21-40 Kg = 40,
> 40 Kg = 30 [El/% > 40 Kg = 30 [@/4% > 40 Kg = 30 [El/%
BITRZ®W 20 20 # 20
) — R % E
%&’7 TEREE | 50, 95% 95%
To—LBE 5 5 5
To—LE HIEERE L CLV=EREAS | AIEERELTLV-ERERR | RIREEL TLV-EERNA

(IW: Ideal Weight)



